EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE-BT-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-BT - NONCOLLEGIATE Semester held in the month of NOV-2017

	SESSION :	2016-2017 CLASS : BE-BT			BRANC	H : Eì	NGINEEI	RING				SEM	ESTE	R / TRIN	MESTE	ER :	NONC	COLLEG	GIATE		MONTH OF EX	(AM : 1	NOV-2017
	ROLL NO	NAME	U L	EE22	201(4)	MA12	201(4)	MA2	201(4)	-		-		-		-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
L				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/10659/12	ROHAN KACHHAP	U	С	20.0	F	0.0	С	20.0	-	-	-	-	-	-	-	-	-	-	40.0	12.0	3.33	
	DL/10039/12	KOHAN KACIIIAI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	12.0	3.33	-

EE2201(4) MA1201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING : ENGINEERING MATHEMATICS	-	:
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	-	:
-		-	:
-	:	-	:
-	:	-	:
-	:	-	:
_	•	-	

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / BE-CIVIL-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-CIVIL - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017	IVIL		I	BRANC	H : Eì	NGINEE	RING				SEM	ESTER	/ TRIM	ESTER	: NO	ONCOI	LEGIA	ΓE	MONTH	OF EXA	M : NOV-2017
ROLL NO	NAME	U	CE30	. ,		001(3)		007(3)		001(3)		001(3)		005(3)	CH22	03(3)	CS2	301(4)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
ROLL NO	IVANE	L	GR.	PT.	GR.	201(4) PT.	GR.	2201(4) PT.	GR.	033(3) PT.	GR.	201(4) PT.	GR.	D21(3) PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	JGIA	KEWIKKS
PE/10020/12	ZAIN ARSHED	U	F	0.0	F	0.0	-	-	F	0.0	-	-	-	-	-	-	С	20.0	60.0	25.0	2.40	UNFAIR MEANS
BE/10020/12	ZAIN ARSHED	L	-	-	F	0.0	С	20.0	-	-	С	20.0	-	-	-	-	-	-	00.0	23.0	2.40	UNITAIR WEARS
BE/10024/12	SYED ZEESHAN JAMIL	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
BE/10021/12	STED ZEESTIM (TRIVIE	L	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-	-	-	20.0	1.0	3.00	
BE/10239/12	RISHI KANT MANDAL	U	-	-		-	-	-	-	-	-	-	-	-	F	0.0	-	-	20.0	11.0	1.82	_
BE/10233/12	RIGHT RETURN THE PERSON OF THE	L	-	-	F	0.0	С	20.0	-	-	-	-	-	-	-	-	-	-	20.0	11.0	1.02	
BE/10290/12	RISHAV CHAHAT	U	-	-	С	15.0	-	-	-	-	С	15.0	С	15.0	-	-	-	-	80.0	20.0	4.00	_
BE/10270/12	Monay Chanai	L	-	-	-	-	F	0.0	С	15.0	C	20.0	-	-	-	-	-	-	80.0	20.0	4.00	-
BE/10/71/12	KUMAR SAURABH	U	-	-	-	-	С	15.0	-	-	-	-	С	15.0	-	-	-	-	45.0	9.0	5.00	_
DL/104/1/12	KOWAK SAOKABII	L	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	-	-	75.0	7.0	3.00	-
BE/10562/12	ANMOL RAWAT	U	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	С	20.0	35.0	10.0	3.50	_
BL/10302/12	ANWOL KAWAI	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	10.0	3.30	

CE3005(3) : GEOTECHNICAL ENGINEERING-I EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING

CE4001(3) : STRUCTURAL ANALYSIS - I MA1201(4) : ENGINEERING MATHEMATICS

CE4007(3) MA2201(4) : ADVANCED ENGINEERING MATHEMATICS : `FLUID MECHANICS - I CE5001(3) ME7033(3) : POWER PLANT ENGINEERING : STRUCTURAL ANALYSIS - II

CE6001(3) : ENVIRONMENTAL ENGINEERING PH1201(4)

CE6005(3) : SURVEYING- II BT3021(3) : BIOLOGICAL SCIENCE

: ENVIRONMENTAL SCIENCE : FUNDAMENTALS OF DATA STRUCTURE CH2203(3)

CS2301(4)

Controller of Examinations

Date: 14-DEC-2017

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE_CP-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE_CP - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION :	2016-2017		E	BRANCH	: EN	GINEE	ERING				5	SEMES	TER / T	RIME	STER	: NO	NCOLL	EGIAT	Е	MONTH OF E	XAM :	NOV-2017
ROLL NO	NAME	U L	MA2	201(4) - PT.	GR.	- PT.	GR.	- PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BE/10617/12	ANKIT DHINGRA	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
BL/1001//12	AINCH DHINGKA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	7.0	3.00	_

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	-	:	
-	:	-	:	
-	:	-	:	tawdey.
-	•	-	•	Clavvi ().
-	:	-	:	
-	:	-	:	Controller of Forming time
				Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE-CS-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BE-CS	S		BRAN	СН :	ENGIN	EERIN	G			5	SEMEST	ER / TR	IMESTE	R : 1	NONCOL	LEGIA	ГЕ	MO	ONTH OF EXA	M : N	OV-2017
		U	CS6	107(3)	CH22	203(3)	CS4	107(3)	CS42	205(3)	CS6	103(4)	CS8	101(3)	EC42	205(3)	EE22	201(4)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	PH12	01(4)	CS6	109(3)	CS7	127(3)	CS80	031(3)	EC20	001(3)	MA1	201(4)	MA2	201(4)	ME2	001(3)	POINTS	CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/10092/12	AMIT TIGGA	U	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	
BE/10092/12	AWIT HOGA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	3.00	_
BE/10326/12	ACHAL TIGGA	U	-	-	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	F	0.0	С	20.0	120.0	27.0	4.44	
BE/10326/12	ACHAL TIGGA	L	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	120.0	27.0	4.44	-
BE/10475/12	PRAVEEN KATARIA	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	85.0	27.0	3.15	
BE/104/3/12	PRAVEEN KATARIA	L	-	-	F	0.0	С	15.0	С	15.0	С	15.0	F	0.0	С	20.0	F	0.0	85.0	27.0	3.13	-

CS6107(3)	: COMPUTER NETWORKS	PH1201(4)	: PHYSICS
CH2203(3)	: ENVIRONMENTAL SCIENCE	CS6109(3)	: SOFTWARE ENGINEERING
CS4107(3)	: OPERATING SYSTEMS	CS7127(3)	: SOFTWARE PROJECT MANAGEMENT
CS4205(3)	: DATABASE MANAGEMENT SYSTEMS	CS8031(3)	: DATA MINING & DATA WAREHOUSING
CS6103(4)	: SYSTEM PROGRAMMING	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
CS8101(3)	: ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEMS	MA1201(4)	: ENGINEERING MATHEMATICS
EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	ME2001(3)	PRINCIPLES OF MECHANICAL ENGINEERING

Disclaimer

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / MESRA / BE-CS-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BE-C	NCH	: ENG	INEER	ING				SEM	IESTEI	R / TRIM	IESTE	R : N	IONCOL	LEGIAT	E	MONTH	OF EXA	M : NOV-2017			
ROLL NO	NAME	U L		101(3) 201(4)		05(3)	CS6	109(3)	CS71	21(3)	CS80	31(3)	EC32	201(4)		201(4)	MA41	.09(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/10180/12	RAJENDRA GILUA	U	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	F	0.0	С	20.0	F	0.0	95.0	26.0	3.65	UNFAIR MEANS
BE/10189/12	RAJENDRA GILOA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	95.0	20.0	3.03	UNITAIR MEANS
DE/10224/12	HIIIWAL DAI	U	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	-	-	40.0	0.0	5.00	
BE/10324/12	UJJWAL KAJ	L	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00	-

CS6101(3)	: DESIGN AND ANALYSIS OF COMPUTER ALGORITHMS	PH1201(4)	: PHYSICS
CS6105(3)	: COMPILER DESIGN	-	:
CS6109(3)	: SOFTWARE ENGINEERING	-	:
CS7121(3)	: CRYPTOGRAPHY AND NETWORK SECURITY	-	:
CS8031(3)	: DATA MINING & DATA WAREHOUSING	-	:
EC3201(4)	: DIGITAL ELECTRONICS	-	:
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	-	:
MA4109(3)	: PROBABILITY, STATISTICS AND NUMERICAL TECHNIQUES	-	

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / BE-EC-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BE-EC	2		BRANG	CH : :	ENGINEI	ERING				SE	MESTEI	R / TRII	MESTER	R : N	IONCOL	LEGIA	ГЕ	M	ONTH OF EXA	M : N	OV-2017
ROLL NO	NAME	U L	EC32	203(3) 201(4)		205(3) 201(4)		203(4)	EC52	. ,		205(3)		205(4)	EE42	207(4)	EE62	201(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/10259/12	MANISH KUMAR	U	С	15.0	С	15.0	-	-	F	0.0	С	15.0	С	20.0	С	20.0	С	15.0	100.0	27.0	3.70	_
BE/10239/12	WANISH KUWAK	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	100.0	27.0	3.70	
BE/10312/12	SHARON PRIYANKA LAKRA	U	-	-	-	-	С	20.0	F	0.0	-	-	-	-	-	-	-	-	40.0	15.0	2.67	
BE/10312/12	SHARON PRI I ANKA LAKRA	L	С	20.0	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	40.0	13.0	2.67	-
BE/10476/12	PRUTHVI RAJ GYADARI	U	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	40.0	8.0	5.00	
BE/104/6/12	PRUTHVI RAJ GYADARI	L	-	-	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	3.00	-
BE/10586/12	CHIPPARI PRASANNA RAJ	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	
DE/10380/12	CHIFFARI FRASAININA RAJ	L	-	-	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	3.00	-

EC3203(3) : MODERN INSTRUMENTS AND MEASUREMENTS MA1201(4) : ENGINEERING MATHEMATICS EC3205(3) : SEMICONDUCTOR DEVICES MA2201(4) EC4203(4) : ANALOG COMMUNICATION SYSTEM : DIGITAL COMMUNICATION SYSTEM EC5201(3) EC5205(3) : DATA COMMUNICATION EE3205(4) : NETWORK THEORY EE4207(4) : DIGITAL SIGNAL PROCESSING

: ADVANCED ENGINEERING MATHEMATICS

Date: 14-DEC-2017

Controller of Examinations

Disclaimer

Disclaimer

EE6201(3)

: CONTROL THEORY

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE_IT-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE_IT - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017	Т		BRA	NCH :	ENG	INEERI	NG				SEN	/IESTEF	l / TRIM	ESTER	: NO	NCOLI	LEGIA	ГЕ	MONTH	I OF EXA	M : NOV-2017
ROLL NO	NAME	U L	CS23	01(4)	EC320	()	HU4	001(3)	IT50	25(3)	IT70-	. ,		201(4)	MA2	201(4)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/10155/12	10155/12 RAJ KISHORE HEMBRAM	U	-		-	-	-	-	-	-	-	-	С	20.0	F	0.0	-	-	20.0	8.0	2.50	
BE/10155/12	RAJ KISHORE HEWBRAW	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	6.0	2.30	
DE/10542/12	NITTIN DADAC ANTHONIV TIDUTY	U	-	-	-	-	-	-	-	-	-	-	С	20.0	С	20.0	-	-	40.0	8.0	5.00	
BE/10542/12	NITIN PARAG ANTHONY TIRKEY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00	-
DE/10578/12	IATINI ACDAWAI	U	F	0.0	F	0.0	С	15.0	F	0.0	F	0.0	-	-	-	-	-	-	15.0	17.0	0.00	LINICAID MEANIC
BE/10368/12	JATIN AGRAWAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	17.0	0.88	UNFAIR MEANS

CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	-	:
EC3201(4)	: DIGITAL ELECTRONICS	-	:
HU4001(3)	: FRENCH	-	:
IT5025(3)	: PRINCIPLES OF SOFT COMPUTING	-	:
IT7041(3)	: PARALLEL & DISTRIBUTED COMPUTING	-	:
MA1201(4)	: ENGINEERING MATHEMATICS	-	:
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

: HEAT & MASS TRANSFER

Reference: EXAM / JPP / BITIC / MESRA / BE-MECH-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION: 2016-2017 CLASS: BE-MECH BRANCH: ENGINEERING								EERING SEMESTER / TRIMESTER : NONCOLLEGIATE MONTH OF EXAM : NOV-2017												OV-2017		
ROLL NO	NAME		ME7015(3) ME6007(3)			201(4)		MA1201(4) ME4003(4)		MA2201(4) EE3207(3)		ME3001(3) ME5005(3)		ME3003(3) PE5001(3)		03(4)	ME6003(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/10032/12	SOUPARN MANNA	U	С	15.0	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-	35.0	7.0	5.00	_
BE/10032/12	SOUT ARIV MANNA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	7.0	3.00	
BE/10201/12	ANHIDAG WINAAR OU	U	-	-	F	0.0	F	0.0	F	0.0	F	0.0	С	15.0	F	0.0	С	15.0	30.0	28.0	1.07	-
BE/10201/12	ANURAG KUMAR CH	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
DE/10225/12	ANALYT DAVA D DWA A	U	-	-	С	20.0	-	-	С	20.0	-	-	_	-	-	-	-	-	55.0	11.0	5.00	-
BE/10233/12	ANANT BHARDWAJ	L	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	55.0			
DE/10220/12	A CHANTE MANOLINAID	U	-	-	С	20.0	F	0.0	F	0.0	-	-	-	-	-	-	-	-	40.0	16.0	2.50	-
BE/10330/12	ACHYUT MANOJ NAIR	L	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-	-	-	40.0	16.0	2.50	
DE/10460/12	CHETANIZACAT	U	-	-	С	20.0	-	-	F	0.0	F	0.0	-	-	F	0.0	-	-	35.0	27.0	1.20	
BE/10469/12	CHETAN KASAT	L	-	-	F	0.0	-	-	F	0.0	С	15.0	F	0.0	-	-	-	-			1.30	-

ME7015(3)	: CFD	ME6007(3)	: DESIGN OF MECHANICAL SYSTEM
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	ME4001(3)	: HEAT POWER CONVERSION
MA1201(4)	: ENGINEERING MATHEMATICS	ME4003(4)	: MECHANICS OF MATERIALS
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL
ME3001(3)	: THERMODYNAMICS	ME5005(3)	: DESIGN OF MACHINE ELEMENTS
ME3003(3)	: FLUID MECHANICS AND HYDRAULICS	PE5001(3)	: MANUFACTURING PROCESS - II
ME5003(4)	: KINEMATICS & KINETICS OF MACHINES	<u>-</u>	:

Controller of Examinations

Disclaimer

Disclaimer

ME6003(3)

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE-MECH-NONCOLLEGIATE / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of NOV-2017

	SESSION :	: 2016-2017 CLASS : BE-ME	СН		В	RANCH	: E1	NGINEE	RING				SEMES	TER / TI	RIMEST	ER :	NONCO	LLEGI	ATE	M	ONTH OF EXA	AM : N	IOV-2017
	ROLL NO	NAME	U L		001(3)	EE32	01(3)		003(3)	MA12	01(4)		003(3)	ME30		ME70)15(3)		001(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/10001/12	ADITYA SANJAY PATIL	U	С	15.0	F	0.0	C	15.0	F	0.0	С	15.0	F	0.0	С	15.0	С	20.0	80.0	27.0	2.96	-
		ABIT TA SANJAT TATIE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0			

EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	-	:
HU4003(3)	: GERMAN	-	:
MA1201(4)	: ENGINEERING MATHEMATICS	-	:
ME3003(3)	: FLUID MECHANICS AND HYDRAULICS	-	:
ME3005(4)	: MECHANICS OF SOLIDS	-	:
ME7015(3)	: CFD	-	:
PE3001(4)	: METALLURGY	-	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: 14-DEC-2017

Reference: EXAM / JPP / BITIC / MESRA / BE_PROD-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BE_PROD - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION :	2016-2017 CLASS : BE_PRO	D		BRA	NCH :	ENGINE	EERING				9	SEMES	TER /	ΓRIME	ESTER	: NC	ONCOL	LEGIA	ГЕ	MONTH OF E	XAM :	NOV-2017
ROLL NO	NAME	U L	GR.	301(4) - PT.	MA2	201(4) - PT.	GR.		GR.	PT.	GR.	PT.	GR.	PT.	GR.		GR.	PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BE/10101/12	MANISH KUMAR KARMALI	U L	C -	20.0	C -	20.0	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00	-

CS2301(4) MA2201(4)	: FUNDAMENTALS OF DATA STRUCTURE : ADVANCED ENGINEERING MATHEMATICS	-	:	
-	:	-	:	Lawdey.
-		-	: :	Jam- 1.
-	:	-	:	
-	:	-	;	Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.